Secs

inches

02feb12. Time difference

0.6

0.5

0.4

0.3

0.2

Td12
Td4
Td8

(td12,4,8) - AST time
S

0.1

0.0

o

td position vs

hour

10

hour during td move

15

20—

15—

10—

14.05

14.10
hour

14.15



Counts

Counts

Counts

Counts

2000 £ =
1000 ; é
of
11000 - =
14.00 14.05 14.10 14.15
hour
Velociy Feedback vs time
2000 £ ”‘ =
1000 £ ‘ ~ =
0 i / =
-1000 ; é
2000 £ =
14.00 14.05 14.10 14.15
hour
Td12 overplot VelCmd,velFdBack, SpdMon
2000 £ ‘ ‘ =
1000 E spdMon - 3
E VelFeedBac =
e VelCmd :
-1000 ; é
2000 £ =
14.00 14.05 14.10 14.15
hour
02feb12 Ratio velFdBack,spdMon / Commanded Vel
1.0F ‘ ‘ ‘ ]
0.8 -
- spdMon/velCmd = .FBQ M ]
06 velFdBack/velCmd= 732 I
0.4 [ =
0.2 -
0.0F .
14.00 14.05 14.10 14.15

02feb12 move tiedowns. VelCmd vs time

hour



